
2126

F - 4174 1

Code No. :

Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) What do you understand by rate of reaction? Give example.

b) Explain transition state theory.

c) Discuss type of intermediate formed in non chain reaction.

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) Compare constant and variable volume reactions.

b) Explain half life concept for the overall order of Irreversible reactions.

c) Discuss integral method of analysis of Irreversible bimolecular second order reactions.

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain biological reactors.

b) Derive general equation for performance of mixed flow reactor.

c) Compare PFR and MFR (for first order irreversible reactions)

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) Compare batch and semi batch reactors.

b) Explain mixed flow reactors.

c) Discuss various factors affecting heterogeneous system.

Q5) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain catalyst poisoning.

b) Explain intermediate compound formation theory.

c) Discuss properties of catalyst.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) A{^{H«$¶m doJ go Amn ³¶m g‘PVo h¢? CXmhaU Xr{OE&

~) g§H«$‘U AdñWm {gÕmÝV g‘PmBE&

g) Non chain A{^{H«$¶m ‘| ‘Ü¶mdñWm Ho$ àH$ma H$mo g‘PmBE&

à.à.à.à.à.2) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) pñWa d n[adVu Am¶VZ A{^{H«$¶m H$s VwbZm H$s{OE&

~) AZwËH«$‘Ur¶ A{^{H«$¶m Ho$ gånyU© H$mo{Q> Ho$ {b¶o AÕ© Am¶w H$s n[aH$ënZm g‘PmBE&

g) AZwËH«$‘Ur¶ Xmo AUwdmbr {ÛVr¶ H$mo{Q> H$s A{^{H«$¶m Ho$ {bE AdH$bZ {d{Y g‘PmBE&

à.à.à.à.à.3) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) O¡{dH$ g§¶§Ì g‘PmBE&

~) {‘³g‹S> âbmo g§¶§Ì Ho$ {bE na’$ma‘oÝg H$m gmYmaU g‘rH$aU ì¶wËnÞ H$s{OE&

g) nr.E’$.Ama. d E‘.E’$.Ama. (àW‘ H$mo{Q> H$s AZwËH«$‘Ur¶ A{^{H«$¶m Ho$ {bE) H$s VwbZm H$s{OE&

à.à.à.à.à.4) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) ~¡M d go‘r ~¡M [aE³Q>a H$s VwbZm H$s{OE&

~) {‘³gS> âbmo [aE³Q>a g‘PmBE&

g) {df‘m§Jr V§Ì H$mo à^m{dV H$aZo dmbo H$maH$ g‘PmBE&

à.à.à.à.à.5) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) CËàoaH$ {dfm³VrH$aU g‘PmBE&

~) ‘Ü¶mdñWm ¶m¡{JH$ {Z‘m©U {gÕmÝV g‘PmBE&

g) CËàoaH$ Ho$ JwU g‘PmBE&
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